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QUESTION 1

Administrators can change the priorities of default zones in the firewall as required. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Which of the following functions could be achieved by the LCP of PPP? 

A. To establish, maintain and terminate the point-to-point connection 

B. IPX address negotiation 

C. IP address negotiation 

D. To maintain multiple physical links 

Correct Answer: A 

 

QUESTION 3

After the server receives the PADR sent by the client, which message will be sent as the response and to identify the
connection? 

A. PADS 

B. PADR 

C. PADO 

D. PADT 

Correct Answer: A 

 

QUESTION 4

What are the three components of PPP? 

A. NCP (Network Control Protocol) 

B. PPPOE 

C. LCP (Link Control Protocol) 
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D. The extension protocol of PPP 

Correct Answer: ACD 

 

QUESTION 5

If Adjacency Segment + Node Segment is used together, the entire path can be forced to include an adjacency and load
balancing. This mode is called loose path. 

A. True 

B. False 

Correct Answer: B 
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